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33 mwn: multiple liabilities for 132 NXY MR
a  If he slaughtered a cow and then two of its young (on the same day) — gets 2 sets of man
b But if: he slaughtered the 2 offspring and then the cow — only 1 set of man
¢ If:-heslaughtered the cow, its “daughter” and that “daughter’s” offspring — gets 2 sets of man
d  But if: he slaughtered the cow (generation #1), then its “granddaughter” (ge. #3) and then the “daughter” (gen. #2)
i pwom 1 setof man
ii o (quoting n™): 2 sets of man
Challenge: why should 2" obtain at all if young is slaughtered first (as per 2" clause)? V. 1 indicates X then 12
a  Answer: v. 1 ends with yonwn i.e. 2 are liable; which is the index, the mother, the offspring (>order isn’t vital)
i Challenge: yonwn RY is needed to set parameters — only nv'nwv is a violation
ii ~ Answer: then it could have been written in the singular; the plural teaches our ruling
1 Challenge: plural needed to teach that even if each animal slaughtered by different person, 2" is liable
2 Answer: then it could have stated vVInW’; Yonwn alludes to our rule as well
Analysis of D19mv’s position (9oV 171 11R)
a  Question (7aK): is ©12mMV’s position global (in which case, if he ate 2 25n »n>t in one n%yn, he’d be liable for 2 mron)
i Inwhich case: the disagreement is presented here to demonstrate 1317’s position — even w/ D’pymn o2amn, only 127n 1
ii  Or:is his position local, since there are wpYmn Do (separate “bodies” on which he is acting)?
b Answer (901 37): his position is global
i Support (anonymous N12273): if someone plants D&Y DRYI, he gets non
1 Interpretation: must mean that he plants twice and gets double man
2 And: cannot be a case of 2 m&Inn, as that is too obvious (per T:1 1)
(a) Must be: one nRINN and all at one time
(b) And: cannot be authored by 13139, who don’t give multiple n»ayn even with D’pbmn a1 >must be v1IMD
(i) Rejection: it is 1117, teaching that there are 2 types of culpable 0’853 — barley/grape and wheat/grape
1. Contra: mwr’ 1 who only holds liability for wheat, barley and grape seed in one handtoss
ii ~ Proposed proof: x:1 9w — if he ate from each 73 (R/L), he gets 2 sets; nmn> "1 — only 1 set
1 (note: at this point, »" is unclear which 1 generates 21n, right or left — but only one does)
2 Circumstance: cannot be that he ate each with separate n®nn, as we know that »*1 holds that pav nkann is not a
valid nxnn and either warning would have been pav nxnn
(a) Background: (in case a man has two possible fathers, as his mother remarried immediately)
(b) 777 7 rules (contra wnaN) that if he strikes or curses both “fathers”, but not simultaneously — 1108
(c) Therefore: must be 1 nxInn and he ate both at one shot
(i) Authority: must be ©1am0 > his position is global
(ii) Block: could be 1129, and the circumstance was 2 distinct nRnn
1. Defense: he holds that nmn» "7 validates pao nxInn
a.  Support: " "1 explains WY in v. 2 that is justifies no man as it is NWY pnn
b.  (3py /7 reason for no man — that WTP2 1NN is a N"IRY IRY)
i.  But: they agree that pao nRInn is considered nrINn
iii  Proposed proof: if he ate 2 P13 from (R) from 2 animals — gets 2 sets of man
1 7 7 only gets 1 set
(a) Must be: 1 n®Inn and eaten at one time (else N7 "1 would agree to 2 sets)
(b) And: 1327 must be representing ©12mv’s position (2 his position is global)
(c) Rejection: it is separate mxINN and separate actions
(i) And: the reason "M’ "1 only levies one set of man is that in this case, there was less than a >3 in
each, and, per his position (x:1), only liable if he easts n1 (1327 — even if he eats nran mna)
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